
7.3_2 Day2 Linear, Quadratic and Exponential Relations (Graph­fest)­s17 May 15, 2017

Today's Learning Goal(s):

a)  analyse a table of values to decide if it represents a relation which is:  
linear, quadratic, exponential, or "unknown"

By the end of the class, I will be able to:

Before we begin, are there any questions from last day's work?  



7.3_2 Day2 Linear, Quadratic and Exponential Relations (Graph­fest)­s17 May 15, 2017

p.380 # 10



7.3_2 Day2 Linear, Quadratic and Exponential Relations (Graph­fest)­s17 May 15, 2017

MBF 3CI  Graph‐fest!Date: ___________________

INVESTIGATION:
1. Create a table of values for the following three relations.  
Complete the first differences (FD), second differences (SD) and y­ratio columns too.  
(The first few rows are done for you.)
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2.  Classify each relation above as either quadratic, linear, exponential, or “unknown”.  Explain.

3.  Determine the y­coordinates for each relation when x = 0.5 and when x = 1.5 too!
     Include these below: 
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  the value of the vase is  
increasing exponentially

  the y ratios are constant

CONCLUSIONS:
1.  Which relation represents the slowest growth?  Why?  Which represents the fastest growth?  Why?

EXAMPLE:  
A vase that cost $800 today is expected to increase in value by 7% each year for 5 years.  
Without graphing, is the growth linear, quadratic, exponential, or “unknown”?  Explain.

slowest growth:  y=2x fastest growth:  y=2x

800 x 1.07 = 856
856 x 1.07 = 915.92

1
2
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This homework is also on the bottom of the back of the handout.
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